AUCTION SALE

Tract#: 1 Public Access, Expiration Date: 9/30/2022

Township: UT 2

Legal Description: SE1/4 SE1/4, Sect. 19, Twp. 53, Rng. 11. SE1/4 SW1/4, SW1/4 SW1/4, $NW1/4 \; SW1/4 \; , \; NE1/4 \; SW1/4 \; , \; SW1/4 \; SE1/4 \; , \; NW1/4 \; SE1/4 \; , \; SW1/4 \; NE1/4 \; , \quad Sect. \; 20, \; Twp. \; 53, \; Twp. \; 53, \; Twp. \; 54, \; Twp. \;$ Rng. 11.

ASH PULP	86.00 Cords	@	3.00 =	258.00
ASPEN PULP	658.00 Cords	@	12.00 =	7896.00
BALM PULP	110.00 Cords	@	10.00 =	1100.00
BALSAM FIR	355.00 Cords	@	7.00 =	2485.00
BIRCH PULP	48.00 Cords	@	4.00 =	192.00
MAPLE PULP	146.00 Cords	@	3.00 =	438.00
SPRUCE P&B	27.00 Cords	@	9.00 =	243.00
= 74				\$12,612.00

Total Acres = 74

Sale Administrator: LEIGH NEITZEL Down Payment Required: \$1,891.80

ASPEN ISLANDS SALE: Clearcut, Rolling Topography

Tract#: 2 Public Access, Expiration Date: 9/30/2022

Township: SILVER CREEK

 $\begin{array}{l} \text{Legal Description: NW1/4 NW1/4 , SW1/4 NW1/4 , NE1/4 NW1/4 , SE1/4 NW1/4 , NW1/4 SW1/4 , NE1/4 SW1/4 , Sect. 3, Twp. 54, Rng. 10. NE1/4 NE1/4 , SE1/4 NE1/4 , NE1/4 SE1/4 , Sect. 4, Twp. 54, Rng. 10. SE1/4 SE1/4 , SW1/4 SW1/4 , Sect. 33, Twp. 55, Rng. 10. SW1/4 SW1/4 , Sect. 34, Twp. 55, Rng. 10. \\ \end{array}$

ASH PULP	475.00 Cord	s @	2.00 =	950.00
ASPEN PULP	54.00 Cord	s @	12.00 =	648.00
BALM PULP	40.00 Cord	s @	6.00 =	240.00
BALSAM FIR	150.00 Cord	s @	7.00 =	1050.00
BASS P & B	860.00 Cord	s @	3.00 =	2580.00
BIRCH PULP	116.00 Cord	s @	4.00 =	464.00
MAPLE PULP	305.00 Cord	s @	3.00 =	915.00
MAPLE PULP &	1750.00 Cord	s @	5.00 =	8750.00
OAK BOLTS	90.00 Cord	s @	18.00 =	1620.00
OAK PULP	1245.00 Cord	s @	10.00 =	12450.00
SPRUCE P&B	80.00 Cord	s @	10.00 =	800.00
YELLOW BIRCH	95.00 Cord	s @	4.00 =	380.00

Total Acres = 215 \$30,847.00

Sale Administrator: LEIGH NEITZEL Down Payment Required: \$4,627.05

HOLY OAKS SALE: Clearcut with seedtree reserves, Hilly Topography

Tract#: 3 Public Access, Expiration Date: 9/30/2022

Township: UT 2

Legal Description: NW1/4 SW1/4 , SW1/4 SW1/4 , SE1/4 SW1/4 , Sect. 5, Twp. 53, Rng. 11.

NW1/4 SW1/4, NE1/4 SW1/4, SW1/4 SW1/4, Sect. 32, Twp. 54, Rng. 11.

ASH P&B	94.00 Cords	@	3.00 =	282.00
ASPEN PULP	158.00 Cords	@	14.00 =	2212.00
BALM PULP	22.00 Cords	@	5.00 =	110.00
BALSAM FIR	293.00 Cords	@	5.00 =	1465.00
BASS P & B	113.00 Cords	@	2.00 =	226.00
BIRCH PULP	126.00 Cords	@	4.00 =	504.00
MAPLE PULP	214.00 Cords	@	6.00 =	1284.00
SPRUCE P&B	68.00 Cords	@	14.00 =	952.00

Total Acres = 50 . \$7,035.00

Sale Administrator: TOM BODELL Down Payment Required: \$1,055.25

OLD DRUM BALSAM SALE: Clearcut, Rolling Topography

Tract#: 4 Public Access, Expiration Date: 9/30/2022

Township: SILVER CREEK

Legal Description: SE1/4 SE1/4 , Sect. 19, Twp. 55, Rng. 9. NW1/4 SW1/4 , SW1/4 SW1/4 , Sect. 20, Twp. 55, Rng. 9. NW1/4 NW1/4 , Sect. 29, Twp. 55, Rng. 9. NE1/4 NE1/4 , Sect. 30,

Twp. 55, Rng. 9.

ASH PULP	158.00 Cords	@	2.00 =	316.00
ASPEN PULP	812.00 Cords	@	14.00 =	11368.00
BALSAM FIR	36.00 Cords	@	8.00 =	288.00
BASSWOOD PULP	12.00 Cords	@	2.00 =	24.00
MAPLE PULP	36.00 Cords	@	3.00 =	108.00
SPRUCE P&B	58.00 Cords	@	10.00 =	580.00

Total Acres = 58

Sale Administrator: LEIGH NEITZEL Down Payment Required: \$1,902.60

PORCUPINE QUILL SALE: Clearcut, Hilly Topography

\$12,684.00

Tract#: 5 Public Access, Expiration Date: 3/31/2022

Township: SILVER CREEK

Legal Description: SE1/4 NW1/4 , NW1/4 SW1/4 , NE1/4 SW1/4 , Sect. 5, Twp. 55, Rng. 9. NW1/4 NW1/4 , NW1/4 SE1/4 , Sect. 6, Twp. 55, Rng. 9. SE1/4 NW1/4 , NE1/4 NW1/4 , SE1/4 SE1/4 , NE1/4 SE1/4 , Sect. 8, Twp. 55, Rng. 9. NW1/4 SW1/4 , NE1/4 SW1/4 , SW1/4 SW1/4 , Sect. 9, Twp. 55, Rng. 9. NE1/4 NE1/4 , Sect. 1, Twp. 55, Rng. 10.

ASPEN PULP	542.00 Cords	@	12.00 =	6504.00
BALM PULP	22.00 Cords	@	5.00 =	110.00
BALSAM FIR	42.00 Cords	@	5.00 =	210.00
BIRCH P&B	133.00 Cords	@	7.00 =	931.00
CEDAR P & B	40.00 Cords	@	7.00 =	280.00
MAPLE PULP &	866.00 Cords	@	6.00 =	5196.00
SPRUCE P&B	94.00 Cords	@	13.00 =	1222.00
YELLOW BIRCH	121.00 Cords	@	6.00 =	726.00

Total Acres = 154
Sale Administrator: TOM BODELL Down Payment Required: \$2,276.85

BEAVER BRANCHES SALE: Clearcut , Variable Topography

Tract#: 6 Public Access, Expiration Date: 9/30/2022

Township: UT 2

Legal Description: SW1/4 SE1/4, Sect. 15, Twp. 55, Rng. 11. NE1/4 NW1/4, NW1/4 NE1/4,

Sect. 22, Twp. 55, Rng. 11.

ASH P&B	620.00 Cords	@	5.00 =	3100.00
ASPEN PULP	143.00 Cords	@	10.00 =	1430.00
BALM PULP	60.00 Cords	@	8.00 =	480.00
BALSAM FIR	230.00 Cords	@	5.00 =	1150.00
BASSWOOD PULP	158.00 Cords	@	2.00 =	316.00
BIRCH P&B	266.00 Cords	@	4.00 =	1064.00
MAPLE PULP	286.00 Cords	@	3.00 =	858.00
RED PINE PULP	18.00 Cords	@	8.00 =	144.00
SPRUCE PULP	47.00 Cords	@	10.00 =	470.00
: 74				\$9,012.00

Sale Administrator: LEIGH NEITZEL Down Payment Required: \$1,351.80

THOMAS LAKE SALE: Salvage, Rolling Topography

Total Acres =

\$15,179.00

Tract#: 7 Public Access, Expiration Date: 9/30/2022

Township: CRYSTAL BAY

Legal Description: SW1/4 SE1/4, NW1/4 SE1/4, Sect. 15, Twp. 57, Rng. 7. NW1/4 NE1/4,

Sect. 22, Twp. 57, Rng. 7.

ASPEN PULP 35.00 Cords @ 8.00 =280.00 **BIRCH PULP** 15.00 Cords @ 5.00 = 75.00 **RED PINE P&B** 110.00 Cords @ 990.00 9.00 =Total Acres = 18 \$1,345.00

Sale Administrator: TOM BODELL Down Payment Required: \$201.75

PINE SALE: Row thinning, Flat Topography

Tract#: 8 Public Access, Expiration Date: 9/30/2022

Township: UT 1

 $Legal\ Description:\ NE1/4\ NW1/4\ ,\ NW1/4\ NE1/4\ ,\ SE1/4\ NW1/4\ ,\ NE1/4\ NE1/4\ ,\ SW1/4\ SE1/4\ ,$

Sect. 8, Twp. 58, Rng. 6.

ASPEN P&B 46.00 Cords @ 15.30 = 703.80 BALSAM FIR 72.00 Cords @ 5.00 = 360.00 358.00 Cords 7.00 = BIRCH P&B @ 2506.00 MAPLE PULP 104.00 Cords 7.00 = 728.00 @ SPRUCE P&B 214.00 Cords 14.00 = 2996.00 Total Acres = 45 \$7,293.80

Sale Administrator: TOM BODELL Down Payment Required: \$1,094.07

BIG COW SALE: Clearcut, Rolling Topography

Tract#: 9 Public Access, Expiration Date: 9/30/2022

Township: CRYSTAL BAY

Legal Description: NW1/4 NE1/4 , NE1/4 NE1/4 , SE1/4 NE1/4 , Sect. 34, Twp. 58, Rng. 7. SW1/4 NW1/4 , NW1/4 SW1/4 , SE1/4 NW1/4 , NE1/4 SW1/4 , SW1/4 NE1/4 , NW1/4 NE1/4 , SE1/4 NE1/4 , Sect. 35, Twp. 58, Rng. 7.

ASH PULP	27.00	Cords	@	3.00	=	81.00
ASPEN PULP	55.00	Cords	@	12.00	=	660.00
BALSAM FIR	45.00	Cords	@	5.00	=	225.00
BIRCH PULP	123.00	Cords	@	5.00	=	615.00
MAPLE PULP &	5262.00	Cords	@	5.00	=	26310.00
RED PINE P&B	10.00	Cords	@	10.00	=	100.00
SPRUCE P&B	194.00	Cords	@	13.00	=	2522.00
YELLOW BIRCH	660.00	Cords	@	6.00	=	3960.00

Total Acres = 184 \$34,473.00

Sale Administrator: GROUP SALE Down Payment Required: \$5,170.95

BIG MAPLE SALE: Modified Clearcut, Hilly Topography

Tract#: 10 Public Access, Expiration Date: 3/31/2022

Township: FALL LAKE

Legal Description: SW1/4 NE1/4, SE1/4 NW1/4, NW1/4 SE1/4, NE1/4 SW1/4, SW1/4 SE1/4,

Sect. 15, Twp. 63, Rng. 11.

ASPEN PULP	137.00 Cords	@	14.00 =	1918.00
BALM PULP	10.00 Cords	@	6.00 =	60.00
BALSAM FIR	74.00 Cords	@	5.00 =	370.00
BIRCH P&B	198.00 Cords	@	7.00 =	1386.00
BLACK SPRUCE	135.00 Cords	@	15.00 =	2025.00
MAPLE PULP	9.00 Cords	@	6.00 =	54.00
SPRUCE P&B	200.00 Cords	@	15.00 =	3000.00
: 36				\$8,813.00

Total Acres = 36
Sale Administrator: TOM BODELL Down Payment Required: \$1,321.95

BEAVER HIGHWAY SALE: Clearcut, Rolling Topography